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! Unit 1 Pretest Review
, MPM2D
| Jensen

1) Solve each linear system

by graphing.

a)f;: y=4x-5
‘gz:y=§x+5

Soludiont %23, 3:7

L:Sj 734‘5 4= %9445
Y e = m :2\3’)
§)d,035’y\ =7
lﬁ’\lr&':lﬁ =5

%,,'m-:b: ’5

b)fi: 3x+y=1

<cluken & X=0, Y= |

‘gz: X + 4‘y = 4‘
,\L;L“,ev%\./ Line 2
34\445-:[ ’JLH[B‘J‘(

y= <3| oy = jf +
3"_ gr *]

gld‘ae :/V\'f——l/Lt

Ldv\\vd' :b: l

Sld]E:"V\ < '%’

Yyat =6 1

)t y=-2x+5
ty: y=%x—5

/Ei[‘_";\;!; Line 2

W= -dx 5 Y= ix -5
slopp= M= 'ET' slope = m =
-t -b= § 3-’ivy\-'—"b: -

solian * X249y 4= -3
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2) What are the different possibilities for the number of solutions to a linear system. Explain each scenario

1 sa\ation F e lines have dferest sloese

o O utins I He lhes are mralie) (sme shope)

bt have difftereny y-indercess.

¢ imcf/\‘r@ Mot 20 UHoRS i te [ines MU&A"Q’SQN‘&

slope. ondd Some L@ﬂ‘&@mﬁ# Se

At y=2x+4

fy: x—4y=-9
O w@W @ x-44=-1
=AY iy~ L(Cmc#{) -9
Ny - -6 ==
Y =
Yy o pand

c)fi:3m+9n=1

fy:m+3n=2
O 3mtin=| (@) mr3n=
2(3-30) ¥ = m= 273N
Q’GU\H’\:\
- -5

& NO s\ whons .

T \nes ave p&m\\ﬁ\ and digtinct .

A// erqﬁd ond distinet.
/ Pami}e} anol comcicler

3) Solve each linear system using the method of substitution

b)$1: 2x =7—y

£,: 3x—2y =21
©ax=7"9 @ 3x-dq=3|
y= 7% Sz -A(7-2x) = 3|
jeats) Bt
N 7= 35
K=5

<slution s =5, y=-3

d)f;: 2x =3y =6

by 2x—y=7
@ &%—33:@ % 9«3\44%:7
dx-3(ax-1)=4 dx =7 “—b
Iy -G txl =6 -
"1")( :—'5 ,5( > j
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'gz: 2x+3y=7
© w-x = @ By
=R =Y Jx +3<’§<7< W=7
j’ -
”%(&3'“?:3 o’)fX _;—)C‘l'la\ _7
- é%-a_jc =-5
-3+Y =4 S
:,l =
k\)) 0% =-10

X =

SO[M_—HO/\ TS ks—_ L

f){’lz 2x=6—y

£y 3x =2y =2
@ X :é’“j @ 3%—&:) =
3= o o bdn) = &
%16'3‘690 3x -3t =3
O = o T =1
X =o3-

soluon § X=d) Y=

4) Solve each linear system using the method of elimination.

a)f;:x—y=14
y: 2x+ 5y = -7

1x © —13 = A%

D ax+y =7/ - pou =LY

- “7u = 35 %'23) =14
) 1521y
%:/5 %:4?

saluions =9,y =5

c) ¥y 3x+4y =17
ty Tx =2y =17

O B duy =17 sub X3 e O
@ W 3V ty =17
l7y:5; 7\”/@:’7
Z=3 Hy -8
gt

Soligion 1 X=3, Y= o

Suls 5;-'5 t‘/\’(@@

b) #,: 9x — 3y =15
‘82: 3x—y=5

O %’333‘5

3@ -390 -

O% +03:Q

Z’:V@l‘/\‘f\ab many So\ué—b/xsﬂ.
The lires are. fradie) avd colnciolerd

d)#;: 2x +5y =18
€1 3x+5y—17=0

Q ax +54 =% Sub % z( inda )
@ 3x +§3 :,7 - -1 +Sj =z
- ¥ =| ~;Lf53:/<4
X =-| 5y = a0
474

soluben © ¥=—| )31%










































































































e)f: 3x=34-2y f)£1: 5x +2y =5

£, 5x —3y =—-13 £y 2x +3y =13
O %&éﬁ:?ﬁa\ sub K=Y ido @ 1K Q) 15% Jcé(:}—_[ﬁ Suls A= it @
=10 - -
w @ M Jién _ 1L 4 534 ”’li 1x® Trtey -3k — Qy«t%;fl}
2O W 55‘0 Zji\f é ly =-{ a0 T3y =13
= o>y = _
2; -_;L,( 373;335 v zZ- 49\-\'%3 13
=11 33:6
LS_‘/

uans K =Yy Y= \

sohutions X =-|, k3:5

5) Petr has S5000 invested in two plans. One plan pays 5% simple interest per year and the other pays 8%. At
the end of the year, Petr receives a total of $340 in interest. How much did he invest in each plan?

K = amount & 97 © ¥+ 9= 503 @ o.o5x+ 002y = 349 gub y=3038 o ©
Joox @ 9K +¥N= 34 000
5y XAy = 35900 =
L= 3099
- 230308
d

W amauat a8 Yo st = 500G
x +3000= 9990

a=—rices

2o\ uklans  Perr Wesked baood o 5% ondd
ﬁgooo o €Y .

6) A physics contest has 30 multiple choice questions. A correct answer gains 4 points, while a wrong answer
loses 1 point. Rolly answered every question and scored 55 points. How many questions did he answer
correctly?

A = ¥ coeroct ®) %*3236
\6::\%\“?&\3 @W’U\:SS +

Sy = %5
X =177

Lo\urion ¢ ‘P\O\\\s ‘37'\— ‘._( corsecte








































































































7) One lawn fertilizer is 24% nitrogen, and another is 12% nitrogen. How much of each fertilizer should be
mixed to obtain 100 kg of fertilizer that is 21% nitrogen?

K = Gmount o5 2 7o nikromen Qx+y= loQ @ Gody + o.,\:;\L\B: Qe \ (lOO) o ¥=75 o ()
“55 amount 65 % nitrogen Bor @ a4y + 9o = 2100 KN Z\OC
Ay®  1Fx By = 1290 — ToEN=1 09
[y = 900 A= 85
x=75

Solukion » 15 Key o 3492 nisen, ord 25 key I 9% routle]
e M‘N{d’ .

8) A small plane took 3 hours to fly 960 km from Ottawa to Halifax with a tail wind. On the return trip, flying
into the wind, the plane took 4 hours. Find the wind speed and the speed of the plane in still air.

N sfkv{ 05'{“!‘“\@ N Y air @ 3(9({—33 = 76Q @ L((’x—n} = 160

W= winok SPeed, Rt = %o l{’)c-%'-sf— 60
Rememizer & Ly © ’X*":):?)&Q 5%\3:%6(’*\“0@
. \ E
didmnee. = Speesl 2 hime 1@ =Y =3¥yo _ AW=3220
4 —_— x 4o =3+
&\S:gg 7(:3-5’6
Lg-; 4O

Soliions Tre speasd of the plane o stillair s 250 km/In
Tha speszpf oF the wind 13 4O Km/W

9) The Outdoors Club held a car wash to raise money. They washed cars for $5 each and vans for $7 each.
They washed 45 vehicles and earned $243. How many of each type of vehicle did they wash?

A= # O car © W= @ sy vy =43 sub 4=F it ©
o= e 0 5% ¥ 285 - ARy s
24 =1 Wwi=95
l}ﬁtﬁ A= 36

<gludion ’N@j waghed 3¢ @3 ond T vans
























































































































Answers

1)a)x=3,y=7b)x=0,y=1c)x=4,y=-3

2) no solutions if the lines are parallel and distinct; 1 solution if the lines are not parallel; infinitely many
solutions if the lines are parallel and coincident.

3)a)x =—1,y=2 b)x =5,y =—3 c) nosolutions d) x =175,y=% e)x=2,y=1f)x=2,y=2
4)a) (9,—5) b)infinite solutions ¢c) (3,2) d) (—1,4) e) (4,11) f) (—1,5)

5) $2000 at 5% and $3000 at 8%

6) 17

7) 75 kg of 24% nitrogen, 25 kg of 12% nitrogen

8) wind 40 km/h; plane in still air 280 km/h

9) 36 cars and 9 vans






